N F g = T A L S

TIAREE
20204£3 H 17 H

1 BM

IN=T 4 = e T A VRV TRREED S DTN H 20 ) hEBRET B,

2 (ERAE

import sys
sys.path.append("statlib")

from xtest import Hardy_Weinberg_test
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import sys
sys.path.append("statlib")
from xtest import Hardy_Weinberg_test

Hardy_Weinberg_test(6, 1, 2)

Exact test for Hardy-Weinberg equilibrium
chisq = 1.7915, df =1, p value = 0.18075
exact p value = 0.05882

{'N11": 6,
'N12': 1,
'N22': 2,
'N1': 13,
'N2': 5,

'exactpvalue': 0.05882352941176444,
"chisq': 1.7914792899408285,

'df': 1,

'asymptoticpvalue': 0.18074603004567708%

Hardy_Weinberg_test (45, 25, 12)

Exact test for Hardy-Weinberg equilibrium
chisq = 4.854, df =1, p value = 0.02758
exact p value = 0.01686

{'N11': 45,
'N12': 25,
'N22": 12,
'N1': 115,
'N2': 49,

'exactpvalue': 0.016859139194428416,
'chisq': 4.854012844364627,

'df': 1,

'asymptoticpvalue': 0.027581892775685093}

Hardy_Weinberg_test (450, 400, 100)

Exact test for Hardy-Weinberg equilibrium
chisq = 0.51155, df = 1, p value = 0.47447
exact p value = 0.45263
{'N11': 450,

'N12': 400,



'N22": 100,

'N1': 1300,

'N2': 600,

'exactpvalue': 0.45263291491605545,
'chisq': 0.5115540762656143,

'df': 1,

'asymptoticpvalue': 0.47446688116100266}



